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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 3rd Semester Examination, 2020, held in 2021  

PHIACOR05T-PHILOSOPHY (CC5) 
HISTORY OF WESTERN PHILOSOPHY 

Time Allotted: 2 Hours  Full Marks: 50 
The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 and 2 are compulsory. Answer any two from the rest 
১ নং এবং ২ নং pű আবিশ°ক। অবিশŶ �য-�কােনা dিট pেűর উtর দাও 

1. Answer any five questions from the following: 

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What according to Locke is the source of Knowledge? 
লেকর মেত jােনর উৎস িক ? 

(b) What does Locke mean by Primary qualities? 
লক মুখ° gণ বলেত িক বিুঝেয়েছন ? 

(c) What are the different types of complex ideas admitted by Locke? 
লক sীkত জিটল ধারণার pকারেভদgিল িক িক ? 

(d) What is meant by Subjective Idealism? 
আtগত ভাববাদ বলেত িক �বােঝা ? 

(e) What is Nominalism? 
নামবাদ কােক বেল ? 

(f) What does Hume understand by ideas? 
িহউম ধারণা বলেত িক বুিঝেয়েছন? 

(g) State two examples of matters of fact, after Hume. 
িহউমেক অনুসরণ কের বাsব ব°াপার সংkাn jােনর dিট উদাহরণ দাও। 

(h) What does Hume mean by ‘mitigated skepticism’? 
িহউম সংযত সংশয়বাদ বলেত িক বুিঝেয়েছন ? 

(i) Mention two differences between Analytic and Synthetic proposition, after Kant. 
কাnেক অনুসরণ কের িবেųষক ও সংেųষক বচেনর মেধ° dিট পাথ�ক° �লেখা। 

(j) What according to Kant, are the apriori forms of sensibility? 
কােnর মেত ইিndয় বৃিtর পূব�তঃিসd আকারgিল িক িক ? 

(k) Why Kant’s epistemological theory is known as Critical Philosophy? 
কােnর jান তttেক �কন িবচারবাদী দশ�ন বলা হয় ? 

(l) Who (philosopher) woke whom (philosopher) from dogmatic slumber? 
�কান ্   দাশ�িনক অপর দাশ�িনকেক িনিব�চার িনdা �থেক জাgত কের ? 
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2. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ  

5×2 = 10

(a) What are the difference levels of knowledge according to Locke? 
লেকর মেত jােনর িতনিট sর িক িক ? 

(b) Distinguish between Primary and Secondary qualities after Locke. 
লক-�ক অনুসরণ কের মুখ° ও �গৗণ gেণর মেধ° পাথ�ক° িনণ�য় কেরা। 

(c) Discuss the role of God in Berkeley’s philosophy. 
বাক�েলর দশ�েন ঈƬেরর ɛিমকা আেলাচনা কেরা। 

(d) Explain in brief the principles of Association, after Hume. 
িহউেমর ধারণার অনুষেñর নীিতgিলর সংিkp ব°াখ°া কেরা। 

(e) Discuss in brief the causal theory of constant conjunction after Hume. 
কায�কারণ সmেক� িহউেমর সততা সংেযাগবাদ তtt সংেkেপ আেলাচনা কেরা। 

(f) What precisely is the problem of Kant’s philosophy? 
কােnর দশ�েনর িবেশষ সমস°া িক ? 

  
3. Define ideas after Locke. Does Locke admitted innate ideas? In this connection 

discuss the different types of ideas accepted by Locke. 
লক-�ক অনুসরণ কের ধারণার সংjা দাও। লক িক সহজাত ধারণা sীকার কেরেছন ? এই pসেñ লেকর 
ধারণার pকারেভদgিল আেলাচনা কেরা। 

3+6+6

  
4. Discuss critically the doctrine of Representative Realism. 

pিতrপী বstবাদ তttিট িবচারসহ আেলাচনা কেরা। 
15

  
5. “Esse-est percipi” — Explain critically the main tenets of this thesis. Write in 

brief whether this idealism is subjective or objective. 
‘‘অিst pত°k িনভ�র’’ — এই তেttর মলূ বkব° সিবচাের আেলাচনা কেরা। এই ভাববাদ আtগত না 
বstগত — সংেkেপ �লেখা। 

10+5

  
6. What does Hume mean by Impression and Ideas? “Ideas are faint copies of 

impression” — On what ground Hume proves this? Are these proofs acceptable? 
িহউম মুdণ ও ধারণা বলেত িক বুিঝেয়েছন ? ‘‘ধারণা হল মুdেণর অsŶ pিতrপ’’ — �কান ্   যুিkgিলর 
িভিtেত িহউম এিট pমাণ কেরেছন ? এই যুিkgিল িক gহণেযাগ° ? 

4+7+4

  
7. Do you think that Kant has brought about ‘Copernican Revolution’ in 

Philosophy? Is this claim justified? 
কাn িক সত°ই তাঁর দশ�েন ‘�কাপািন�কান িবpব’ ঘিটেয়িছল ? কােnর দাবীর �যৗিkকতা িবচার কেরা। 

12+3

  
8. Explain the Kantian notion of a priori. How does Kant explain the distinction 

between analytic apriori and synthetic apriori proposition? Explain in this 
connection the nature of the proposition — ‘7+5 = 12’. 
কােnর পূব�তঃিসd ধারণা ব°াখ°া কেরা। িকভােব কাn িবেųষক পূব�তঃিসd ও সংেųষক পূব�তঃিসd 
বচেনর পাথ�ক° ব°াখ°া কেরন ? এই pসেñ ‘৭+৫ = ১২’ — এই  বচনিটর pkিত ব°াখ°া কেরা। 

3+6+6

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 
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